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Exercise 1 (25%)
A company has a weekly production of soap and shampoo using 2 different raw materials. The
amount of available raw materials per week is limited. One ton of soap requires 3 tons of raw
material A and 3 tons of raw material B. It takes 4 tons of raw material A and 1 ton of raw
material B to produce 1 ton of shampoo.

In addition to the two products above, the production process results in a byproduct. Each week,
at least 20 tons of the byproduct have to be produced. Each week, the company has access to 70
tons of raw material A and 19 tons of raw material B.

The company has formulated the following LP for maximizing profits given the conditions above:

max 26x1 + 15x2

subject to

4x1 + x2 ≥ 20
3x1 + 4x2 ≤ 70
3x1 + x2 ≤ 19

x1, x2 ≥ 0

a) Interpret x1 and x2 in the optimization problem.

b) How many tons of the byproduct do you get from producing one ton of soap and shampoo,
respectively?

c) Solve the problem with the Simplex-algorithm.

d) Formulate the dual problem.

e) How much can you change the profit from producing shampoo before the optimal solution
changes?

f) Instead of producing the byproduct, the company has the chance to buy some the
byproduct in an external market. How much is the company willing to pay for 1 ton of the
byproduct? How many tons should the company buy at this price?

Exercise 2 (25%)
Emil runs a small business, carving wooden figures in his spare time. He produces big and small
figures. The big ones sell for 50 NOK a piece, whereas customers are willing to pay 40 NOK for a
small figure. It takes him 3 hours and 2dm3 of wood to produce a small figure, whereas he can
finish a big one in just 2 hours using 5dm3 of wood. He has 20 hours and 35dm3 of wood
available every week.

He needs some help determining how many big and small wooden figures he should carve each
week in order to maximize the sales revenues (assume that all figures will be sold).

a) Formulate the integer optimization problem.

b) Draw the feasible region of the problem and solve it graphically.

c) Solve the problem using Branch-and-Bound. Use the figure from b) to solve the
LP-relaxations.

Assume now, that Emil values his spare time at 5 NOK/hour and has to spend 3 NOK per dm3

wood.
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d) How would the optimal solution change if Emil wants to maximize profits instead of
revenues? Use the figure from b).

Exercise 3 (20%)
Consider the following project network:

The activity durations are given as

Activity a m b
A 28 32 36
B 22 28 34
C 26 36 46
D 14 16 18
E 32 32 32
F 12 16 26
G 12 16 26
H 16 20 24

a is the optimistic estimate for the activity duration, m is the most likely activity duration, and b
is the pessimistic estimate for the activity duration.

The following formulas might be useful: t =
a + 4m + b

6
, v =

(
b− a

6

)2

a) Determine the earliest possible finish time of the project and the activities on the critical
path.

b) What is the probability that the project will be finished after 80 weeks? Use the table for
the normal distribution on page 8.

c) If you were to crash the project, which activities would you start with? What do you have
to consider when crashing these activities?

Exercise 4 (20%)
A gas station with only one gas pump employs the following policy: if a customer has to wait,
the price is 10 NOK per liter; if she does not have to wait, the price is 12 NOK per liter.
Customers arrive according to a Poisson process with a mean rate of 10 per hour. Service times
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at the pump have an exponential distribution with a mean of 5 minutes. Arriving customers
always wait until they can eventually buy gasoline.

Each customer purchases on average 60 liters of gasoline.

a) Calculate the probability that there is no customer in the system, the expected amount of
time a customer waits in the queue, and the expected amount of customers at the gas
station (at the pump and in the queue).

b) Determine the expected price of gasoline per liter and the expected income of operating the
gas station for 10 hours.

The gas pump is getting old and no longer as reliable as it used to be. Assume that the service
times are distributed according to the following probability distribution:

Service time [min] Probability
4.0 0.40
5.0 0.30
6.0 0.20
7.0 0.10

c) Simulate 1 hour of operations for the gas station and determine the expected price of one
liter gasoline. Use the last column of random numbers of the table on page 9.

d) How reliable are the results from the simulation?

Exercise 5 (10%)

a) Which algorithms can you use to solve the linear assignment problem?

b) Which algorithm would you use for solving the linear assignment problem? Explain why
you prefer it over the others.
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Oppgave 1 (25%)
En bedrift har en ukentlig produksjon av s̊ape og shampo ved hjelp av 2 ulike r̊avarer som det er
begrenset tilgang p̊a. Det g̊ar med 3 tonn av r̊avare A og 3 tonn av r̊avare B for å produsere ett
tonn s̊ape. For å produsere ett tonn shampo g̊ar det med 4 tonn av r̊avare A og 1 tonn av r̊avare
B.

I tillegg til de 2 produktene resulterer produksjonsprosessen i et biprodukt. Det er et krav at det
produseres minst 20 tonn av biproduktet hver uke. N̊ar det gjelder de 2 r̊avarene er det
tilgengelig 70 tonn av A og 19 tonn av B hver uke.

Bedriften har formulert følgende LP for å maksimere profitten under betingelsene beskrevet over:

max 26x1 + 15x2

slik at

4x1 + x2 ≥ 20
3x1 + 4x2 ≤ 70
3x1 + x2 ≤ 19

x1, x2 ≥ 0

a) Interpreter x1 og x2 i optimeringsproblemet.

b) Hvor mange tonn av biproduktet f̊ar man ut av produksjonen av hvert tonn av henholdsvis
s̊ape og shampo?

c) Løs problemet med Simplex-algoritmen.

d) Formuler dualproblemet.

e) Hvor mye kan profitten per tonn shampo endres før det f̊ar en effekt p̊a den optimale
løsningen?

f) I stedet for å produsere 20 tonn biprodukt kan bedriften kjøpe noe av dette i markedet.
Hvor mye er bedriften villig til å betale for 1 enhet av biproduktet? Hvor mange enheter
hadde bedriften kjøpt for denne prisen?

Oppgave 2 (25%)
Emil driver et lite foretak: han spikker trefigurer i sin fritid. Han produserer store og sm̊a
trefigurer. De store selges for 50 NOK stykket, mens kunder er villige til å betale 40 NOK for en
liten figur. Han bruker 3 timer og 2 dm3 tre for å produsere en liten figur, mens han bruker 2
timer og 5 dm3 tre for å spikke en stor figur. Han har 20 timer og 35 dm3 tre tilgjengelig hver uke.

Han trenger litt hjelp med å bestemme hvor mange store og sm̊a figurer han skal spikke hver uke
for å maksimere salgsinntekten (anta at alle figurer selges).

a) Formuler heltalls-optimeringsproblemet.

b) Tegn problemets mulighetsomr̊adet og finn den optimale løsningen.

c) Løs problemet med Branch-and-Bound. Bruk tegningen fra b) for å løse LP-relakseringene.

Anta at Emil verdsetter sin fritid med 5 NOK/time og m̊a betale 3 NOK per dm3 ved.

d) Hvordan endres den optimale løsningen hvis Emil ønsker å maksimere profitt istedenfor
inntekt? Bruk tegningen fra b).
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Oppgave 3 (20%)
Se p̊a det følgende prosjektnettverket:

Varigheten for de forskjellige aktivitetene er gitt som

Aktivitet a m b
A 28 32 36
B 22 28 34
C 26 36 46
D 14 16 18
E 32 32 32
F 12 16 26
G 12 16 26
H 16 20 24

a er det optimistiske estimatet for aktivitetens varighet, m er den mest sannsynlige varigheten og
b er det pessimistiske estimatet for varigheten.

De følgende formlene kan være nyttige: t =
a + 4m + b

6
, v =

(
b− a

6

)2

a) Beregn den tidligst mulige avslutningen av prosjektet og bestem aktivitetene p̊a den
kritiske stien (critical path).

b) Hva er sannsynligheten for at prosjektet er ferdig etter 80 uker? Bruk tabellen med
normalfordelingen p̊a side 8.

c) Hvilke aktiviteter ville du ha prioritert å f̊a gjennomført raskere dersom prosjektet skulle
avsluttes tidligere? Hva m̊a du ta hensyn til n̊ar du reduserer varigheten av disse
aktivitetene?

Oppgave 4 (20%)
En bensinstasjon med kun en pumpe har følgende regel for prisfastsetting: hvis kunden m̊a vente
betaler han bare 10 NOK per liter; hvis han ikke trenger å vente koster bensinen 12 NOK per
liter. Kunder ankommer bensinstasjonen etter en Poisson fordeling med forventet verdi 10 per
time. Pumpens betjeningstid er eksponentielt fordelt med forventet verdi 5 minutter.
Ankommende kunder venter alltid til de f̊ar kjøpt bensin.

Hver kunder kjøper gjennomsnittlig 60 liter bensin.
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a) Beregn sannsynligheten for at ingen kunde er i kø-systemet, forventet ventetid i køen og
forventet antall kunder ved bensinstasjonen (ved pumpe og i kø).

b) Beregn gjennomsnittlig utsalgspris for 1 liter bensin og gjennomsnittlig inntekt til
bensinstasjonen hvis stasjonen er åpen i 10 timer.

Pumpen begynner å bli gammel og er ikke like p̊alitelig lenger. Anta at betjeningstider er gitt av
følgende sannsynlighetstetthet:

Betjeningstid [min] Sannsynlighet
4.0 0.40
5.0 0.30
6.0 0.20
7.0 0.10

c) Simuler 1 times drift av bensinstasjonen og beregn gjennomsnittlig utsalgspris for 1 liter
bensin. Bruk den siste kolonnen i tabellen med tilfeldige tall p̊a side 9.

d) Hvor p̊alitelig er resultatene fra simuleringen?

Oppgave 5 (10%)

a) Hvilke algoritmer kan brukes for å løse det lineære tilordningsproblemet (assignment
problem)?

b) Hvilken algoritme hadde du brukt for å løse det lineære tilordningsproblemet. Forklar
hvorfor du foretrekker denne?
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